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QUESTION 1

An administrator needs to create an alarm to monitor when a specific ESXi host in an HA/DRS cluster becomes
disconnected from other vSphere components like HA agents or the vCenter Server. 

Which process must the administrator use to accomplish this? 

A. Define a Host type alarm, monitor for the event Cannot connect host, and supply a conditional trigger on Host name
equal to a specific label. 

B. Define a Cluster type alarm, monitor for the event Cannot connect host, and supply a conditional trigger on Host
name equal to a specific label. 

C. Define a Cluster type alarm, monitor for the event Host status changed, and supply a specific label for each host. 

D. Define a Host type alarm, monitor for the condition Host status changed, and supply a specific label for each host. 

Correct Answer: A 

 

QUESTION 2

What minimum level of access is required for individuals to request and manage items on behalf of users in their
department? 

A. Business Group Manager 

B. Support User 

C. Tenant Administrator 

D. Approval Administrator 

Correct Answer: B 

 

QUESTION 3

An administrator is considering using NPIV to assign WWNs to virtual machines. Virtual machine portability is a major
concern. 

Why would NPIV be inappropriate for this deployment? 

A. Virtual machines using NPIV must use DirectpathIO. 

B. Storage vMotion is not supported using NPIV. 

C. vMotion is not supported using NPIV. 

D. Enabling NPIV requires SR-IOV supported hardware. 

Correct Answer: B 
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QUESTION 4

An administrator powers on a vCloud Automation Center Multi-Machine Service that includes Machine A and Machine
B. The application on Machine A does not start correctly and displays the following error message: 

Machine B not ready 

What step should be taken to resolve this issue? 

A. Change the startup order of the Multi-Machine Service. 

B. Create a startup dependency in the Multi-Machine Service. 

C. Define a startup delay in the Multi-Machine Service. 

D. Adjust the startup approvals for the Multi-Machine Service. 

Correct Answer: A 

 

QUESTION 5

While trying to login into a tenant a blank page is displayed with a Submit button in the upper left-hand corner. 

The Identity Appliance messages log located in /var/log/ shows an error message similar to the following:
T16:50:18-05:00 lsassd[2913]: GSSAPI Error: The referenced context has expired (Unknown error) T08:34:41-06:00
vmdirD. t@139870073485056: Lockout policy check - password expired. 

(cn=tenantadmin,cn=users,dc=tenant) 

T11:58:03-06:00 lsassd[2943]: GSSAPI Error: The referenced context has expired (Unknown error).... 

Account "cn=tenantadmin,cn=users,dc=qic" password expired and caused login/bind from IDM to fail. 

YYYY-03-18 

T11:38:46-06:00 denqca3vcacid01 vmdirD. t@140689332778752: LoginBlocked DN 

(cn=tenantadmin,cn=users,dc=tenant), error (9239)(Account access blocked) 

What event caused this error? 

A. The SSO internal tenant administrator password has expired. 

B. The service account used to start IIS does not have sufficient privileges. 

C. The integrated Windows authentication identity source experiences an error. 

D. The Tenant Administrator account has been locked in Active Directoy. 

Correct Answer: A 

Latest VCPC610 Dumps | VCPC610 VCE Dumps | VCPC610 Practice Test                                3 / 4

https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html


https://www.leads4pass.com/vcpc610.html
2024 Latest leads4pass VCPC610 PDF and VCE dumps Download

Latest VCPC610 Dumps VCPC610 VCE Dumps VCPC610 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest VCPC610 Dumps | VCPC610 VCE Dumps | VCPC610 Practice Test                                4 / 4

https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html
http://www.tcpdf.org
https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html
https://www.leads4pass.com/vcpc610.html

